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Code No. : A.B-233

Cash realised from the Assets

Liquidation Expenses

Unsecured Creditors

Preferential creditors

Debentures

Equity shares capital of the company

(20,000 shares of t l0 each)

t
3,00,000

9,000

1,60,000

6,000

18,000

2,00,000

Total No. of Sections : 3

Total No. of Priuted Pages : 11

Code No. : A.B-233

Annual Examination, 2O2O

B.Com. Part ll
ACCOUNTING

Paper I

[Corporate Accounting]

Time : Three Hours I I Maximum Marks : 75

dz : qG 'at' otfu ag rf,+4 wan ail, frsi <-s vvz il,
etffi tr w€'q':il ag r*?+ mrr qi rP" t gq
sus'tr' # E?d ffit?" r+z tl sq'.rr' s+ rrqt cEd
aa frqr Fim t/

Note : Section 'A', containing 10 very short answer type
questions, is compulsory. Section 'B' consists of
short answer type questions and Section 'C'
consists of long enswer type questions. Section
'A' has to be solved first.

Elu!, . gr,

Section 'A'
ftqifad wfu ag ffii?" r*A d srr ('r qr <t awl
,il dr
Answer the following very short answer type
questions in one or two .sentences. 1 x 10=10

PT.O,

Prepare the Liquidator's Final Statement ofAccount.

3{SrAt

Or

drq-Erfr qrA d fuR fii * foq q..q+ sfqf{qq
* t+rrq srqqrd 6l qoh s1fuql

Mention various provisions of the Companies Act

for preparation of Profit and Loss Account.

3. ftqfufqn q+*eit d enlrR qr @rfr sl {iqrs-{
srltrerq frfq (qrqrur) t 61FqS-

(i) qqp i 3tsd fiIs1fud {d ' { 6,00,000

(ii) s.C t rn dq qff * qrqrR-s' elq E{I Ffir-{

T 1,07,600, t 90,700 eiR t r,rz,soo

t:

t8l
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Code No. : A.B-233

t. siyil 6l E{ol srJ t ?

What is forfeiture of shares ?

Code No. : A.B-233
€ffi a-qfr tf,fuys qr 30 q{, 2016 4i tfu-*.
€rn-s{ gen 1 qqq+'s] qrftr{fof sqi{dt d'rsdEd
ulvr qr 3% (qr srr[sld +KTn +1 ffid nRr qr
2o7o |s qqrrrfi i sq-R ttqfufr q-r q-an-frq,tut ql
lcqir :o qr, 2ot6 e1 qrq-+ q1ftqfr frq fr-

qqfrrd S md-mq t crq n-6-s

{HFH qq
sTGrd d-{fi

1-ifftr*.rfr +i<R

f,Iul-C:{

*..ur'fr qfr e'c-dr ei{T t"fr
({ ro srd 2o,ooo eiyr)

t
3,00,000

9,000

1,60,000

6,000

18,000

2,00,000

7.

qryq6-sl siRrq fe-d{ur Argr fuR e1ieqr

Swadeshi Company Limited went into voluntary

liquidation on 30th June, 2016. The liquidator's
remuneration is 3% on the amount realised from the

assets and 27o on the amount distributed to unsecured

creditors. The liquidator realised all the assets. The

following was the position of the company as on

30th June, 2016 :

8. ffr =diffur Hr t ?

What is Capital Reduction ?

2. TciftrfiR sivil t anq Hr qr{t t ?

What do you understand by Preference shares ?

3. riqq G oTrfirfl 6r +n qT{rq t ?

What is meant by Reserves and Surplus ?

4. m.qrl * vqrcr *1 cRqrsr dfqsr

Give definition of liquidation of a company.

qft * Teisn q1 A fttud frtuqr

Write the methods of valuation of goodwill.

sivit + erqR Ts e sTrq flr ee-{t t ?

What do you understand by market value of shares ?

q-si6-rurSdmq{dr{qr

State two benefits of Amalgamation.

l2t l7 t P. T. O.
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r.'-{ fu-s$ crs { 10 qrd too Bi{r t, +s-d err*6q 61
t 2 sfr oifl g*.r{ r eTrdzr nfrr r: sfr oivr *fr * r

's'ffi qrur rso eicr t ro srA t, i +{d 3rr+fi
rR"r nqt emizq {Rr Tori r qq s$ si{ii qJ sqq
qrq{ T 3 cid oi$ aqr lgfro qrqfl { 2 vft'siyr drri
* qr< rror ol fuqr dqT srE ii t s sfr 3i{r + R€re
t Wi<= qHA Es 5t €rfr eisit fl gl: frrka m-t

Rqr E$r aur 5lHrin-t fr qrqF*rd t.fr vf{fud
q'lFsqr

'A' who holds 100 shares of { 10 each paid only

application money of { 2 per share. The amount on

allotment was { 3 per share. 'B' rvho holds 150 shares

of { 10 each paid only application and allotment

money. All the above shares were forfeited after the

second call. The first call and second call were of
{ 3 and { 2 each respectively. Subsequently all
these shares were reissued for { 8 each fully paid

up. Pass the necessary Joumal Entries of forfeiture

and reissue.

3lSrqt

Or

Code No. :,A.B-233

9. 'tfr'' 41 cftqrlvd +ifrSr

Define'Bank'.

I0. a-€FrdE affi *1 qRqrqr <tfuqr

Give definition of Subsictiary Company.

qug 'q'
Section 'B'

frqifan ag dilf{ yr+ d s?n ts0-200 w p?sr

fdr
Answer the following short answer type questions
with word limit 150-200. 5x5=25

1. si{il * frfrqq q1 fipiqa +i s+grgqr

Explain the issue of Shares of Premium.

oTsrqI

$w aeflu-on ei{il * yttfi t snc Hr {T{a t ?

What do you understand by redemption of
redeemable preference shares ?

2. qrrFrs * fdrd{0T * td 6r c[Gc dfsqr

Give proforma of liquidations Statement ofAccount.

silea y,qifsrdR siyil + fTrifi nql vten qq*fr
Fr{rq q-dr{qr

Explain the rules regarding the issue and redemption

of redeemable prel'erence shares.

t6t t3t PT.O.
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Code No. : A.B-233
3[qqt

Or

ttrq-Erft t4Fr+6rt rsril + tq-+-tr{ cH i @ qri
sri rrd * crc fqfisqr

Write the names of various items shown in the Debit

side of Profit and Loss Appropriation Account.

!s' 6-rrfr i < too qrA, t so 3E6iT, {Frdr eivil qr

rz%d Et t ewivt d *qoTr q1r vsrq 6] qrqrq

<r lo% tr s{sil 6r Xs a56 alteqr

A company has declared a dividend of l2ozo on its

equity shares of { 100 each, { 80 paid up. Normal

rate of retum is 10%. Ascertain the value of shares.

oTSTET

Or

lo% vtfqd qre q1<t t fi-{ qff * fuq t r +1
qrffi-r qfa sr e-dqn {s { 2.4868 t nqr erlqmq

< 1s,000 tr erfa ft1 {rpr ffisqr

The present value of annuity of t I for three years

at l|Yo p.a. interest is { 2'4868. Super profit is {
15,000. Find out Goodwill.

Code No. : A.B-233
4. q+tfiur qi Wm, fi errt qrrEqt

Distinguish between Amalgamation and Reconstuction.

3ls[qt

Or

frd *'{Tfifiq B1 tqfE ql qqqrEqr

Explain Pooling of Interest method.

5. q{qrt E.rryfi 6 cgu erq qdr{qt

Discuss main advantages of Holding Company.

SISrEr

Or

c-{ yun€fr * mq qagqr

Discuss advantages of slip system.

Eluct'T['
Section.C'

ffi6d dd B-rf? wil n sR 3oo-3so yr< €?cr

Cdr
Answer the following long answer type questions
with word limit 300-350. 8x5:40

t4t t51 PT.O.
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(iv) nriErfr B1 sr*1 +qrsii * yftrwr*qsq sfdd
qlft8rfus. { 12,000 Erffi-s. fr er+fr ir6'aTr$T-ErR

tqr it nqT*fqf, qET f{-qr rrqr t r

From the following information, calculate the value

of goodwill by super profit method (simple) :

(i) Average capital employed in the business is {
6,00,000.

(ii) Net trading profit of the firm for the past three

years were t 1,07,600, { 90,700 and { 1,12,500.

(iii) Rate of inteiest expected from the capital having

regard to the risk involved is l2Yo.

(iv) Fair remuneration to the partner for their service

T 12,000 per annum, not charged to profit and

Loss Account so far.

sISTET

Or

stvil + quiam qfi frfqn fdfird *1 nqflr{q r

Explain various methods of valuation of shares.

let P. T. O.



qr<R-m g-{fftrior qq qra g.{itrur il erfr{ qdr{qr

Distinguish between Intemal Reconstruction and

Extemal Reconstuction.

5. afr1 f€frts dqr Es+1 s6s6 yfrq fgfiTk +
fiqg,fran5sR t-

Code No. : A.B-233

From the following Balance Sheets of Naveen Ltd.

and its Subsidiary Praveen Ltd. :

Balance Sheets (as on 31st March, 2016)

Prepare a Consolidated Balance Sheet.

sdslE[t

Or

Code No. : A.B-233

4. \r+tfr{q + tds tsifr-{ qr qrfi Aqis-{ qms'*14

* gw k"<.Si *.r quir q1isqt

Describe main features ofAccounting Standard- 14 on

' Accounting for Amalgamation'.

qsrqt

Or

fiefi-* sffii +' srrtm q{ *'fr + ftA 6I sl-$l

{fqq dqr cgs Yfrdqii a.r fr-qtor frfqqt

Give specimen of Bank's Balance Sheet on the basis

of imaginary figures and explain its main headings.

oooaDdcIDOOD

r 11 r LL/475

Liabilities Naveen

Ltd.

Praveen

Ltd.
t

Assets Naveen

Ltd.
t

Praveen

Ltd.
{

Share capital

(in shares of
{ 100 each)

Sundry

Liabilities

36,00,000

16,00,000

10,00,000

6,00,000

Sundry

Assets

Investment

in shares

of Praveen

Ltd.

(10,000

shares)

34,00,000

18,00,000

16,00,000

52,00,000 16,00,000 52,00,000 16,00,000

iq-gr (rr qrd, zoro) +1

S1fud *{fr.
t

r&ur fr. ITqftTfi T+{ft.
t

r&Er fr.
{

eivr tS
(t loo vfr
dvr d)

frfrq
clk€

16,00,000

36,00,000

6,00.000

10,00,000 ffiq
vqffi
ffiqfr.
+dYilq
fqFrftr
( lo,ooo

oifl)

34,00,000

18,00,000

16,00,000

52,00,000 16,00,000 52,00,000 r6,00,000

frfle,rd tdgr tqR dfuql

llot


